Kada prognoze par stavokla izmainam?
Ja stavoklis neuzlabojas, péc cik ilga laika veikt atkartotu izvértédanu?

SITUACIJA Zvanu par
Zvanu par
Pacienta a
Probléma ir
Piem., GRUTNIECE BEZSAMANA
Personigi parbaudiju vitalos raditajus
Elposana
Pulss
p -
Bazas par
Asinsspiediens >200 <100 30mmHg zem ierasta
Pulss >130 <40 simptomatisks
Elposana <8 >30
Temperatira <35.5 >40
Urinaizvade <25milh <200ml/g8h
02 saturacija <88%
Cits
Apzina
KONTEKSTS Modrs un kontaktéjams
Apjucis sadarbigs nesadarbigs
Satraukts Kareivigs
Miegains runa var norit
Tuvu bezsamanai neskaidra runa iespgjams nevar norit
Koma acis ciet nereagé uz stimulu
Ada
Silta, sausa
Bala
Plekaina
Nosvidusi
Ekstremitates aukstas
Ekstremitates siltas
Skabelis lieto nelieto
Sakts (laiks) I/min
Oksimetra radijums %
Oksimetra pulsa raksturojums _stabils svarstigs
ASSESMENT Domaju, ka probléma ir
NOVERTEJUMS
Problémas iesp&jamie c&loni
sirds infekcija neirologija elposana
Nezinu, kas ir problémas célonis, bet stavoklis pasliktinas
Stavoklis nestabils un k|st sliktaks, vajadziga
REKOMENDACIJAS No arsta
Parvest un nodrosinat intensivo apripi
Apskatit pacientu noteikta laika
Aprunaties ar pacientu un vipa gimenes locek{liem par turpmako ricibu
8 lagt aciju, pacienta izvértésanu
Nepieciesamie testi
RTG
Asins gazes
EKG
Pilna asins aina
Elektroliti Urea Kreatinins Glukoze
Citas
Ja mainas arstésana, jauta
Cik biezi izvértét vitalos raditajus?

iPad %

SITUATION

1am calling about
The patient’s Code status is:

The problem | am calling about is:

(e.g. 1AM CONCERNED THE PATIENT IS GOING TO ARREST)

1 have just assessed the patient personally:
Vital signs are:  Blood Pressure. /. N
Respiration_ %

Pulse_
and temperature

1am concerned about the:

Blood pressure because itis over 200 or less than 100 or 30 mmHg below usual

Pulse because it is over 130 or less than 40 and smptomatic
Respiration because it is less than 8 or over 30
Temperature because itis  less than 96 or over 104

less than 25mi/hr or 200 ml/8hrs
less than 88% on 6/liters nasal cannula

Urine output because it is
0, saturation because it is
Other:

BACKGROUND
The patient's mental status is:
Alert and orented to person, place, and time
Confused and cooperative or  non-cooperative
Agitated or combative
Lethargic but conversant and able to swallow
Stuporous and not talking clearly and possibly not able to swallow
Comatose Eyes closed Not responding to stimulation.
The skin is:
Warm and dry
Pale
Mottled
Diaphoretic
Extremities are cold
Extremities are warm

The patient is not or is on oxygen.
The patient has been on (I/min) or (5) oxygen for minutes (hours)
The oximeter is reading %

The oximeter does not detect a good pulse and is giving erratic readings.

ASSESSMENT
This is what | think the problem is:

“SAY WHAT YOU THINK IS THE PROBLEM"
The problem seems to be cardiac infection neurologic
1 am not sure what the problem is but the patient is deteriorating.
The patient seems to be unstable and may get worse, we need to do something.

respiratory

RECOMMENDATION
From Physician

Transfer the patient to Critical Care

Come to see the patient at this time

Talk to the patient or family about Code status

Ask a consultant to see patient now.
Are any tests needed:

Do you need any tests like CXR ABG EKG CBC BMP

Others:
If a change in treatment is ordered then ask:

How often do you want vital signs?

How long do you expect this problem will last?

If the patient does not get better when would you want us to call again?

FIGURE 20-4. Sample SBAR Communication Tool. (Reprinted with permission from the Institute for Healthcare Improvement

Available at hito:/Awww.ihi

“ommunicationTaol. asox)
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